
Calculating Cdi from  A1,A2,  P1,P2
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**** Begin Iteration
→Calculate !m,  Assume Cd 0Value

Compressible,  Subcritical
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2γ

γ −1( ) Rg ⋅T0( )
p1
P0

⎛

⎝
⎜

⎞

⎠
⎟

2
γ

−
p1
P0

⎛

⎝
⎜

⎞

⎠
⎟

γ+1
γ

⎡

⎣

⎢
⎢
⎢

⎤

⎦

⎥
⎥
⎥

Compressible,  Supercritical

!moutlet =Cd0 ⋅P0 ⋅A1 ⋅
γ

Rg ⋅T0
2

γ +1
⎛

⎝
⎜

⎞

⎠
⎟

γ+1
γ−1

→Calculate Reynolds number
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→Calculate Cvi (ASME  MFC −14M −2001)
Corner  Tap : (assume D1, D2 −− > inches)
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Flange Tap :

Cvi = 0.598+0.468 ⋅ D2
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→Calculate Cdi→ β = 1− D2
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Return to ****,  Iterate Until  
Cdi( ) j+1 − Cdi( ) j

Cdi( ) j

< ε


